Unit 4: Many maps, same place
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Valid and Invalid
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Is Jacko a bird?

Premise A: All gulls are birds

Premise B: Jacko is a gull

So

Conclusion C: Jacko is a bird

This is a good argument. Can you see why? If A is true, and B is true, then C must be true. We could say, if A and B, then C.

We call this argument VALID because the conclusion – that Jacko is a bird – follows on from A and B (the premises). 

How is this argument different?

[image: image3.jpg]


Is it going to snow today in Oxford? 

Premise A: It always snows on Christmas Day in Oxford.

Premise B: Today is Christmas Day.

Conclusion C It is going to snow today in Oxford.

It follows the same pattern, and the conclusion C follows on from A and B (the premises). If A and B, then C.

But unfortunately A is untrue – it doesn’t always snow on Christmas Day in Oxford, so the conclusion is VALID BUT UNTRUE.

VALID is not the same as TRUE. A TRUE conclusion can only follow on from TRUE premises.
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With a partner, can you make up an argument that follows the same pattern?

Decide whether your conclusion is VALID AND TRUE or VALID but UNTRUE.

Write your answer here.

PREMISE 1

PREMISE 2

CONCLUSION

Share your ideas with the class and don’t mind if you get it wrong!

Remember that the aim of logic is to help you to think and explain things sharply and accurately – but it takes practice!

Think about:  

	Would a computer (or a robot like Commander Data)

find it difficult to tell the difference between a 

valid argument, and a true argument?

                   If so, why?
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